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TRAMCAR BRAKING

All motormen before teking up duty must be femiliar with
the following questions and answers:-

BRAKE LQUIPMENT DESCRIPTIONS, ETC.
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What is the purpose of the compressor?

To pump air from the atmosphere into the reservoirs.

What is the governor and its purposc?

The governor is an electric switch for automatically
bpening and closing the circuit to the compressor
motor,

At what pressurc does the compressor commence te work?

60 1bs.

At what pressure does the compressor motor ccase
working?

.OF b s,

When you know that electricity is in the overhead wires
and the cempressor dees not work, what would yeu do?

Make sure that the compressor switch is clesed and if
s¢ examine the fuse,

Before replacing a burnt out fuse what precaution
would you take?

Open the compresser switch,

What is the purposc of the motorman's brake valve?

It has a dual purpose; firstly to allow the air to
pass from the rescrvoir to the brake cy.inder,
secondly to exhaust thc air into the atmosphere from
the brake cylinder,

What is the purpose of the two air guages situated one
in each motorman's cabin?

To indicate the pressure in the air reservolrs,
What is the handbreke?

It is a mechanical brake by which the motorman can, by
turning the wheel, force the shoes on to thc wheels,

When is the handbrake to be used?

In the event of the failure of the air brake, and when
leaving a tram at the termini er clsewhere on the road,

Under what condition could the brake be automatically
freed from the wheels when standing?

When a lightly loaded tram picks up & number of

pPassengers.

What is the rcason for this autematic freeing ef the
breke shoes?

When the weight is applied to the tram, the shoes are
forced down vertically and at a tangent from thc wheels
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Question 13: Under what condition could the breke of a standlng9
tram sutomatically tighten when the brakes arc on’

LNSWER ¢ When a heavily loadecd tram discharges: e great numpbEr

or all its passcngers at the one time, In this case
the shoes rise vertically toward the centre line of
the wheels, resulting in greater pressure betwecn the
shoes and the wheels,

Question 1l: Which is the most effcctive brake?

AUSWER: The air brake,
Question 15: Under what conditions should a heavy application of

the air brake be madc?

ANSWER : When the trem is travelling et speed and the rail is
in good conditilion.

Question 16: What is meant by the rail being in goed condition?

ATTSWER ¢ When the adhesion betwecen the wheel end roil is good.
Question 17 Under what conditions would the adhesion be best?
AUSWER : When thc rail is thoroughly cleen and wet,

Question 138: When is the reil slippery?

ANSWER Generally after a light rain er when therc is any
substance on the surface such as oil, tar, leavos &c.

Question 19: What weuld you de to ceuntercct this slippery condition ?

ANSWER Apply brake more gradually and epply sand to the rails
by pressing &n the sandcr button and relcase breke
momentarily to allow wheels to revolve if they skid.

Question 20: I8 it your duty to see that the sand hoppers havce
plenty eof sand and that the apparatus is working
satisfactorily?

ANSWER ¢ Yes; these should be freguently examined, especially
under conditions that are likely to make the rails
slippery.

Queation 21 What is the minimum (lewcst) air »ressure at which you
arc permitted to use this brake?

ATSWER : 50 1bs,
Question 22: What precaution weuld be neccessary when running a tram

under this condition?

ANSWER ¢ A grecater distance must be allewed in which ta bring
the tram to a standstill as the force on the shoes
would be somewhat rcduced,

Question 23: Would yeu be permitted to travel as fast with the air
bralke out of arder?

ANSWER ¢ No; it would be necessary to travel morc slowly and to
allow plenty of time in which to bring the tram to s
standstill,

Question 243 If wheels skid when brake is applied what must you do®

ANSWER: Release brake moaenterily in order to allow wheels
-y to revolve, apply braeke more gently and use sand,
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Under what conditions must you allow a greater distance
in which to st4p tram?
a When tram is heavily 1leaded.
b When on down grede.
@ When rail is slipperya.
a When using hand brake,
e When approaching any obstruction.
PROCEDURES_IN THE EVZNT OF BRAKE FATITLURE:
7
How would a tram be stepped, moving in a forward

dircetion, if air and hand brakes failed.

By pulling the reversing lever back and epplying
ene notch of power, er if necessary two, at the same
time using sand,

What would be nccessary if the whecls spun round and
did not grip the rails sufficiently?

Throw the handle to the off position for an instent
and apply the power, also sand, again, repeating the
process if necessary until the tram has been brought
to a standstill,

If the circuit bresker opcens when the moters are re-—
versed, what should be done?

The power handle should be immediately thrown round
to the parallel running position and left there until
the vehicle comes to rest,

Should sand be used when either of these twm elecctrical
means are uscd te stop the tram?

Yes; and should be used continuously until the vehicle
comes to rest,

If the tram is running backwards downhill, how would it
be stepped?

In the same manner as described gbove except that the
reversing key weuld be peinting in the oppusite
directien, that is it must alweys be pointing in the
epposite direction to that in which the tram is
travelling,.

How would a tram bc kept from moving en a grade after
having been stopped when there was no air or hand brake
to hold it?

Some hord substance would have to be placed in front ef
the wheels, such as a big stone, piece ef wood, draw-
bar etc.

How would a tram descent a
brake failed?

grade if both air and hand

The circuit breaker should be opened, the reversing key
pulled back, that is peinting up the grade, and the
power handle turned round to the last parallecl position
%nd %eft there until the tram came to rest o.a the level

rack,

With this means ef stopping a tram, would it hold it in
a stationary position?

No; because the electricity used in stopping it is de-—
pendent on the metion of the tram te generate the
current,
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What happens when this means of stopoing the tram is
used?

The two motors are cross—connected so that the one 1s
driven by the momentum of the tram and generates
electricity supplied to the other motor which retards
or stops rotation,

Would it be possible to use this means of stopping
the tram when one of the motors had been cut eff?

No; as previously expleined, it 1s necessary to have
the two motors in working order and cross—connected.

Would this means of stopping tram be effective if the
pole were off trolley wire or if the electricity was
off for any reason?

Yes, it is not dependent on power from the trolley wire,

LEAVING TRAM UNATTENDED ON A GRADE:

If necessary to leave a tram unattended on a grade,
what action would be necessary?

Release air-brake and apply the handbrake firmly, open
the automatic switch, push the reversing key so that
it is pointing up the grade and turn the power handle
round tc the last parallel running pusition after re-
moving the trolley pole if daylight,

Manager,
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On the trip into the City, the usucl signal will be
obtained at the outer loep, but at Bridge Street the signal
there will indicate the condition of this street., If box is
clear, a proceed signal is obtained from setting contactors
suitebly placed and later restoring contactors clear the auter
lrop signal. Near Grenvillc Street, the Bridge Street signal

is cleared by a restoring contactor,




